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QUESTION 1
DRAG DROP
You have a Java class named InsurancePolicy.

You need to define a constant data member named RATE. The data member must be accessible by any class without
instantiating the InsurancePolicy class.

How should you complete the code? To answer, drag the appropriate code segment to the correct position. Each code
segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll
to

view content.

NOTE: Each correct selection is worth one point.

Select and Place:

Code Segments Answer Area
|'Fi"E:L finzlly | public class InsurancePolicy
| private protected ‘ {
double RATE = ,0642;
publie static | }

.:.up:r | [woid |

Correct Answer:

Code Segments Answer Area
m‘ public class InsurancePolicy
| private ‘protected | { ' S——_
public static ’ final double RATE = ,0642;
| }
}

.:.up:r | [void |

References: https://docs.oracle.com/javase/tutorial/java/javaOO/classvars.html

QUESTION 2
DRAG DROP

You are interviewing for a job at Adventure Works, Inc. The hiring manager asks you to create a single console
program.

The program takes multiple arguments from the command line and writes them to the screen in the same order as they
were typed on the command line.
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Which three code segments should you use to develop the solution? To answer, move the appropriate code segments
from the list of code segments to the answer area and arrange them in the correct order.

Select and Place:

Code Segments Answer Area

public static void main(String arguments) { I

‘ for (int i = 8; i < args.length; i++) { |

System.out.println(args[i]);
}
}

‘ for (int i = 1; i <= Integer.parselnt(args[@]); i++) { ‘
System.out.println{arguments[i]); @

}
}

public static void main(String[] args) { ‘

’ for (int i = @; 1 < arguments.length; i++) { ‘

Correct Answer:

Code Segments Answer Area
public static void main(String arguments) { I lpublic static void main(String[] args) {
‘ for (int i = @; i < srgs.length; it+) { I ’ for (int i = 8; i ¢ arguments.length; i++) {

System,out.println(args[i]);
1
' }

‘ for (int i = 1; i <= Integer.parselnt(args[@]); i++) { ‘@

System.out.println{arguments[i]);

}

QUESTION 3
HOTSPOT

You need to evaluate the following code. Line numbers are included for reference only.
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01 public static int fee(char model) {
@2 irt price = @;
83 switch (model) {

a4 case ‘A':

e5 price = 58;
Ba break;

e7 case 'T':

es price = 28;
a3 case ‘C':

i@ price = 5;
11 break;

12 default:

13 price = 1&8@;
14 break;

15 1

16 return price;
17 }

Use the drop-down menus to select the answer choice that answers each question based on the information presented
in the code. NOTE: Each correct selection is worth one point.

Hot Area:

Answer Area

What is the return value when model has a value of *a'? v

20
30
100

What is the return value when med=1 has g value of '1'7 -

What is the return value when med=1 has a value of "c'? =

100

What is the return value when model has any other value? v

20
50
100

Correct Answer:
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Answer Area

What is the return value when model has a value of *a'?

What is the return value when med=1 has g value of '1'7

What is the return value when med=1 has a value of "c*?

What is the return value when model has any other value?

QUESTION 4
You need to evaluate the following code segment:
double dNum = 2.667;

int iNum = 8;
iNum = {(int)dNum;

What happens when the code segment is run?
A. iINum has a value of 0.

B. An exception is thrown.

C. iNum has a value of 2.

D. iNum has a value of 3.

Correct Answer: C
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QUESTION 5
HOTSPOT
You are creating a method that converts a string representation of a number into an actual number.
The numbers passed into the method include whole numbers and fractional numbers.
How should you complete the code? To answer, select the appropriate code segments in the answer area.
NOTE: Each correct selection is worth one point.
Hot Area:
Answer Area

public wold wonver LSteingTubunber{SLiring numbzrAsSLring)

-

* | number = i . w {numberAsitring);
double Double format
Integer double parseDouble
String | Integer parselnt
String

System.out.println{number);

Correct Answer:

Answer Area

public wold wonverlStringTulumber{SLring numberAsSLring)

e

* | number = | w (numberissitring);
double Double format
Integer double parseDouble
String Integer parselnt
String

System.out.println(number);

References: https://docs.oracle.com/javase/tutorial/java/data/converting.html
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